

بجواب

بجواب

DATE / / SUBJECT:

$$g'(u) = f'(t \tan u + \sqrt{r} \cos u) \times (f'(\tan u \times (1 + \tan^2 u) + (-\sqrt{r}) \sin u) \rightarrow \quad (1)$$

$$g'(\frac{\pi}{4}) = f'(r) \times (f + (-\sqrt{r}) \times \frac{\sqrt{r}}{r}) = r f'(r) = \sqrt{r} \rightarrow \boxed{f'(r) = \frac{\sqrt{r}}{r}}$$

$$f(u) = \frac{(r + \cos u)(\cos^2 u - \cos u + r)}{(r + \cos u)(r - \cos u)} = \frac{\cos^2 u - \cos u + r}{r - \cos u} \quad (2)$$

$$\rightarrow f(u) - r g(u) = \frac{\cos^2 u - \cos u}{r - \cos u} = \frac{\cos u (\cos u - r)}{r - \cos u} = -\cos u \rightarrow (f(u) - r g(u))' =$$

$$f'(u) - r g'(u) = \sin u \rightarrow f'(\frac{\sqrt{r}}{r}) - r g'(\frac{\sqrt{r}}{r}) = \boxed{\frac{-1}{r}}$$

$$\lim_{n \rightarrow (\frac{r}{r})^+} \frac{f(n - \frac{r}{r}) \sqrt{a} - 0}{n - \frac{r}{r}} = f \sqrt{a} = \frac{f \times \sqrt{a}}{r} = r \sqrt{a} \quad (3)$$

$$\lim_{n \rightarrow (\frac{r}{r})^+} \frac{-f(n - \frac{r}{r}) \sqrt{a} - 0}{n - \frac{r}{r}} = -f \sqrt{a} = -\frac{f \times \sqrt{a}}{r} = -r \sqrt{a}$$

$$\Rightarrow f \sqrt{a} = r \sqrt{a} \rightarrow r \sqrt{a} = r f \rightarrow \boxed{a = \frac{1}{r}}$$

$$y = r - a n \rightarrow f(r) = r - f a, f'(r) = -a \rightarrow f(r) + f'(r) = r - f a = -1 \rightarrow a = \frac{r}{f} \quad (4)$$

$$\rightarrow f'(r) = -a = \boxed{\frac{-r}{f}}$$

$$y = \frac{1}{v}(n+d) \rightarrow \dots \rightarrow \frac{a+r}{(r_n+1)^r} = \frac{1}{v}, \frac{1}{v}(n+d) = \frac{an-1}{r_n+1} \rightarrow \quad (6)$$

$$(7) \frac{1}{v}(r_n^r + 14n + d) = an-1 \rightarrow \frac{1}{v_n}(r_n^r + 14n + 15) = a \rightarrow \frac{1}{v_n} \frac{(r_n^r + 14n + 15) + r}{(r_n+1)^r} = \frac{1}{v}$$

$$\rightarrow \frac{r_n^r + 14n + 15}{v_n(r_n+1)^r} = \frac{1}{v} \rightarrow 9n^r + 4n^r + n = r_n^r + 14n + 15 \rightarrow 9n^r + r_n^r - 14n - 15 = 0$$

$$\rightarrow r_n^r + 9n^r - 14n - 15 = 0 \xrightarrow{r=0} n = 2 \rightarrow \frac{a+r}{v \times v} = \frac{1}{v} \rightarrow \boxed{a = 5}$$

معادله در $r=0$ به دست می آید $\rightarrow f(r) = r_n^r + a = 15 + a = 0 \rightarrow \boxed{a = -15}$, $f(r) = 0 \rightarrow 1 + 14 - b = 0$ (4)

$$\rightarrow \boxed{b = -14} \rightarrow b - a = -14 + 15 = \boxed{1}$$

$$\lim_{n \rightarrow 0} \frac{f(n) f'(n)}{(1 - \cos n)^m} = \frac{f(n)}{1 - \cos n} \times \frac{f'(n)}{m(1 - \cos n)^{m-1} \times \sin n} \rightarrow \frac{f(n)}{1 - \cos n} \times \frac{f'(n)}{m(1 - \cos n)^{m-1} \times \sin n} \quad (5)$$

$$\frac{\sin^n(n) \times n \sin^{n-1}(n) \times r_n \times \cos n}{(1 - \cos n)^m} = \frac{n r_n \times r_{n-1} \times r_n \times \cos n}{(1 - \cos n)^m} = \frac{n r_n \times r_{n-1} \times r_n}{n^m} \rightarrow$$

$$n r \times n = r \rightarrow r_{n-1} = r_m \rightarrow \frac{r_{m+1}}{r} \times r = r \rightarrow \boxed{m = \frac{v}{r}} \rightarrow \boxed{n = 5}$$

$$\rightarrow r_{m+1} = v + r = \boxed{9}$$

$$y = \frac{\sqrt{n+1}}{n-1} \rightarrow \frac{y+1}{y-1} = \sqrt{n} \rightarrow n = \left(\frac{y+1}{y-1}\right)^2 \rightarrow y = \left(\frac{n+1}{n-1}\right)^2 \rightarrow f(r) = \quad (7)$$

$$r\left(\frac{r}{1}\right) \times \frac{r}{1} = \boxed{-12}$$

لويانفليمان

DATE / / SUBJECT:

$$f(-1) = 1(-a+1), f(0) = 1 \rightarrow \frac{1+1a-1}{1} = 1a-1 = -1 \rightarrow \boxed{a = \frac{1}{2}} \rightarrow \text{hence } a = \frac{1}{2} \quad (9)$$

$$f'(x) = 3x^2 \times \frac{1}{2} + \left(\frac{1}{2}\right)(1) = 1.5 - 0.5 = 1 \quad (1)$$

$$\sin \frac{\pi}{2} \times \cos \frac{\pi}{2} = 0, \sin \frac{\pi}{2} \times \cos \pi = -1 \rightarrow \frac{-1}{\frac{\pi}{2}} = \frac{-1}{\frac{\pi}{2}} \quad (10)$$

$$y = \sin^2 x - \cos^2 x = -\cos 2x \rightarrow -\cos \frac{\pi}{2} = 0, -\cos \pi = 1 \rightarrow \frac{1}{\frac{\pi}{2}} = \frac{1}{\frac{\pi}{2}}$$

$$\frac{\frac{-1}{\frac{\pi}{2}}}{\frac{1}{\frac{\pi}{2}}} = \boxed{-1}$$